Section 6.5

1) Find the exact value of the following

1) sin‘l% 2) cos‘l(—g) 3) tan'y/3 4) tan‘l(—%) 5) cos™*(-1) 6) cos‘l(—%) 7) tan™'0 8) sin™'(-1)

9) cos™1 10) cos™0 11) sinl(—%) 12) tan™(-1)

I1) Find the exact value of each expression

1) sin[cosl(—iz)] 2) cos[sinl(—g)] 3) sinl(sin(—%)) 4) cos™(cos 213—8”) 5) tan™*(tan 1677[)
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i i6in 2973 71 cos (605 27 8) tan-i(tan &) 9) sin-itsin 3) 10) o feos( 25N 11) sin-i(sin O
6) sin~*(sin 15) 7) cos™(cos c ) 8) tan~(tan 7) 9) sin™*(sin 18) 10) cos*[cos( 15)] 11) sin~(sin 10)
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16) cos(cos™ %) 17) cos[cos‘l(—%)] 18) sin[sin‘l(—%)] 19) sin(sin™ 72) 20) tan[tan‘l(—T)]

21) tan(tan™ 213—57[) 22) sec[sin‘l(—g)] ,a>h 23) csc[cos‘l(—é)] 24) sin[tan‘l(—é)] ,a>0 25) cot[sin‘l(—g)]

26) cos(tan™ g) 27) sin(cos‘l%) 28) cos(sint+/3)  29) sinl(—%)+20051(—§)

N
30) cot[sinl(—g)—cosl(O)] 31) sec[2tan1(—1)—cosl(—%)] 32) csc[sinl(—%)—%]

12) tan*[tan(- 210)] 13) sin[sin ™ (-b)], ~1<b<0 14) cos[cos‘l(—g)] , a<b 15) tan[tan~*(-

33) cot[cosl(—%)—?w] 34) sin[Gn—cosl(—%)] 35) tan[%[+sin1(—g)] 36) sin[cosl(—iz)—gf]
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37) cos[tan*(-/3) 6] 38) cot[sin~*( 2) 3] 39) csccos™( 2) 2] 40) cot[2 sin*( \/5)]
Ly @7 LK a3t
41) sec[tan™*( \@) 77] 42) solve sin (3 +2) 5 43) solve cos (\/§+3\/§) 1
44) solve tanl(\/§—4—;):—% 45) solve sin’l(l—x—xz):—%
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Section 6.6: Solve over [—7z,7]
1) sin6’=—§ 2) tand=-1 3) cosezg 4) cscod=2 5) cot9=% 6) tan20=0 7) sin30 =1
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8) cos26 5 9) sin> =2 0) tan2 3 11) cos(26 2) 1 ) sin(6 - ) 5
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13)tan(20—%)=1 14) sin(2€+%)=—7 15) cos(ZH—%)z—T 16) tan?=1 17) tan20=-——
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Section 6.7: Solve over [-z,27) [ find the number of solution over the given interval]

1) 2cos?@ =+/3cosd 2) sin@+sin20=0 3) 2cos?@+sin@=2 4) sin?6—2sind=3 5) /3sin20+cosd=0
6) 2sin@+cscd-3=0 7) sec?@=1+~/3tand 8) 2cos?H+3cosf—-2=0 9) sec26d-4=0 10) sind=tan6
11) 2sin?@+sind-6=0 12) 2cos’@—cosd =0 13) sin*O=sin20 14) cos26+cosf -2 =0

15) tan@+cotd+2=0 16) 3cot’0+1=0 17) c052§=% 18) sin*@—cos*@ =1 19) sin®#-cos’d=0

20) csc® @ =2coto 21) sinzgzcosze 22) 2csc?@-1=0 23) cosd =sin’ & cosO
24) 3sec’@-2sec/-1=0 25) tanfcosf+tand=0 26) 3sind-2-cscd=0



